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(1 2016 O AF(QE) x 2016 = oAk HE

o

(Ehel: E&, %)
| A 2 20161 off Al A of &kl HlnEZd | EHE
2

(A) (B) (C=A-B) |(C/Bx100)

&H| &H|

iy A 4,012,821,806| 100.00| 3,758,800,731| 100.00| 254,021,075 6.76

| 3,296,987,618| 82.16| 3,215,7/09,124| 8555 81,278,494 2.53

A
| 715,834,188| 17.84 543,091,607| 14.45] 172,742,581 31.81

—=7 | HEHEA 293,834,948 7.32 271,556,526 722 22,278,422 8.20

-7 EFEH 3 A 421,999,240 10.52 271,535,081 7.22| 150,464,159 55.41

5409 2,107%9Fd o] A=

HIS| A= 3% 2,969%] 87619Hd o0&
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=
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p EHIS| A= 71589 3494040 =
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(CHel: M2l %)
= 2016 of Akl MAE of AbH HnEsd |42
A 7 &
AT ") @l ® || (C=A-B) |(C/BI00
et Al 1,972,717,627 | 100.00| 1,931,687,686| 100.00| 41,029,941 2.12
o 2 HES| A 1,468,029,996| 74.42| 1,456,094,090, 75.38 11,935,906 0.82
- S A 504,687,631| 2558|  475593,596| 24.62| 29,094,035 6.12
- 37| HSHEA 203,834,948| 14.89|  271556,526| 14.06| 22,278,422 8.20
- 7|EIS Y S A 210,852,683| 10.69 204,037,070| 10.56 6,815,613 3.34
O 2016 = Ha=EX[2 &5 Az Maloaeh) & 2=
- AAE oAk tiH] 212%<1 4109 2,9945Fd o] = F
1% 97279 1,76294 & AR S
p AHIS| A= 1XF 4,680 2,99955Y 0 =
AdE o2k ffH] 0.82%<] 1199 35909t = HA]
P EHS|HE= 50469 8763WYU O =
AWE o2kl diH] 6.12% < 2909 94037 = HA]



(1 MSWAHCH % 20165 2mojAk(oh) Xe
(SHel: M2 %)
5 A oo 20164 of Ated AT o Akl HunEZd SLS
= (A) AH| (B) MH| | (C=A-B) |(C/Bx100)
et Al 1,771,141,920| 100.00| 1,705,336,375| 100.00| 65,805,545 3.86
o A HES| A 1,266,454,289| 7150| 1,229,742,779| 72.11] 36,711,510 2.99
« S 3| A 504,687,631 2850 475593596 27.89) 29,094,035 6.12
- Zy|Eys|
A 293,834,948 16.59 271,556,526 15.92| 22,278,422 8.20
~ J|EtE 3
A 210,852,683 11.90 204,037,070 11.96 6,815,613 3.34
O 2016HAE HiEM=EX|&E A2 MENAKOH & 2=
- AdE oAk ] 3.86%<] 6589 5540 o] ==
1% 77119 419274 & AASIR S
p UHIS| A= 1% 26649 542870 &
AEE o4kl giv] 2.99%21 3674 1,1515HY = H A
P EHS|AH = 50469 8,7635HY S
AEE oAkl ffH] 6.12%<1 29091 9,403%HYd = HA




1. 2A=EX= &

M off AF(2L)

ere A
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- 201644 Of AboH MAT ofAlel HunsZ |42
3 A & -
(A) MH| (B) MH| | (C=A-B) |(C/Bx100)
[ Al 807,318,334, 100.00| 798,311,815 100.000 9,006,519 1.13
Ml 2|2l 38,000 0.00 38,000 0.00 - -
HxZ 801,945,367 99.33| 763,674,547 95.66| 38,270,820 5.01
HMros 5,334,967 0.66 34,599,268 4.33| A 29,264,301 -84.58
S X| & 2 nf 342,032,882 42.37| 344,088,123 43.10| A 2,055,241 -0.60
Nl el ¢l 18,000 0.00 18,000 0.00 - -
BxZ 336,679,915 41.70| 309,470,855 38.77| 27,209,060 8.79
HMrelsS 5,334,967 0.66 34,599,268 4.33| A 29,264,301 -84.58
Lol Zrof ol m} 423,382,229 52.44| 411,975,021 51.61| 11,407,208 2.77
Ml 2|2l 20,000 0.00 20,000 0.00 - -
BxZ 423,362,229 5244, 411,955,021 5160, 11,407,208 277
HMrels - - - - - -
HZAX X n 38,762,133 480 39,517,419 495 A755,286 -1.91
Nl el - - - 0.00 - -
HExZ 38,762,133 4.80 39,517,419 4.95 NT755,286 -1.91
HMrels - - - - - -
Al o] kol M 1} 3,141,090 0.39 2,731,252 0.34 409,838 15.01
Ml 2|2l - - - - - -
BxZ 3,141,090 0.39 2,731,252 0.34 409,838 15.01
HMEAS - - - - - -
O 2016HE HZAEX|=2 A2 MelojAl(eh2
- AP T o AFE ] 1.13%<1 909 6515 o] = E
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p HAELoSAILHE 2= 539 34965y o2
AA T oAl ] 84.58%¢1 2929 6,4309HY 7} HA
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[2016'F MI-MZ0f+h(Qh) MFAIY S 1M 0]Y ZH|A]

AP M A

o) A" o 5 A2 Ay
09(351) | BHBEEEAISZAME 2 AlAdE] | 100,000
100(356) | AFEIZX| MEAIM cidlelz x| NBIETRARISE | 50,000
100@57) | HAITEEE RAHD AN AlMsl 10,000
106400) | SHYRRBRE MMEES AbR Bals| | 50,000
106(401) | EEEH 2ul g M eons | 26,506
106(400) | WEEH Hababels| xl@ MESTINE 197688
114(457) | 338oizlo|R &tAz|Mdy| x|l ﬂilgiﬂ% 44,400
134(605) | AbEISXIAIM BIAA ST AR Bals| | 30,000
136615) | ZHREToASELNB Js8Y AlMel 30,000
149(675) | HetolAME| M X2l e | 500,000
150(680) | CIE T £ BCIUO[E] XA AR B2lE 10,000
152689) | AHArRIE K SE7Heix 2| X2 L | 36,000
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1-1. BEA=EXS LA =3

Mg =&ofik(et)

L2

- 71 oiy] 0.
8,090 2115%Y & Ads
- HEF

p HEZ=E 8 818TH o2
717 tiv] 0.21%<1 179 2829k

(Shel: M, %)

_ g of Ab o 7 M o HIDZZ | Ze
AT (A) M| (B) M| | (C=A-B) |(C/Bx100)

st A 809,021,154 100.00, 807,318,334] 100.00] 1,702,820 0.21
Mol 42 38,000, 0.0 38000  0.00 - -
Bx3 803,648,187 99.34| 801945367 9933 1702820 021
2SS 5334967 066 5334967 066 - -
ERNEETE 341,614,284 4223 342,032,882 42.37] A418598] -0.12
Mol ¢ 18000] 0.0 18,000 0.0 - -
Bxg 336261317  4156] 336,679,915 4170 4418598 -0.12
BHAS 5334967 066 5334967 066 - -
= ol ZFof oI 3} 425,465,066 5250 423,382,229 52.44) 2,082,837  0.49
Mol ¢ 20,000/  0.00 20,000 0.0 - -
e 425445066 5250 423362229  5244] 2082837 049
CRIESIES . - - - - -

2 A 3| 38,800,714  4.80| 38,762,133  4.80 38,581  0.10
Mol ¢ - - - - - -
Bxz 38,800,714 480 38762133 480 38,581 0.10
2MLQUE - - - - - -
Al o o ob 1} 3,141,000  0.39]  3,141,090|  0.39 - -
Ry - - - - - -
Bxa 3,141,000 039 3141000 039 - -
HMEQE - - - - - -
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= - of & o4 7l M o Hlm =2
#ATE (A) Mu | (@) Mul | (C=A-B)
et Al 094,859,266| 100.00| 992,342,806| 100.00| 2,516,460
SX| Az 1} 449 820,899 4521| 449,291,907 45.28 528,992

LelZof ol mt 487,592,905 49.01) 485,657,953 48.94 1,934,952

HSAHAH 3} 54,200,872 5.45| 54,148,356 5.46 52,516

Al o|okobX 1| 3,244,590 0.33 3,244,590 0.33 -

O 2016 HAEX|Z 42 ME FHOARHE
- 718 tin] 025%<1 259 1,646WHH0] S =
9,948% 59267+ S A3 S
- T8 WE FAEE
p EX|™HAIIE= 4,498 2,0890td o=
714 dinl 0.12%<2) 59 2,8997HY =< HA
> LolFofQlnt= 4,8759) 9,290k o &
714 thE] 0.40%%] 199 3,4957H =< HA
p HAXIMI= 5429 7RO =
714 din] 0.10%<%) 5,2519Hd =) HA
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Mel +=d™ojAr(eh)
(EH9|: M, %)
2 off A o 7l o HDEZ 5L
= (A) M| (B) Mu| | (C=A-B) |(C/Bx100)
ef Al 210,852,683| 100.00 204,037,070| 100.00 6,815,613 3.34
M 2 =<l 11,484,305 5.45 11,118,130 5.45 366,175 3.29
BAMMM 2 T2l 50,000 0.02 50,000 0.02 - -
OIA| K M| 2| =2l 11,434,305 5.4?2 11,068,130 5.42 366,175 3.31
HxZ 168,402,146 79.87 162,949,656 79.86 5,452,490 3.35
e = 168,402,146 79.87 162,949,656 79.86 5,452,490 3.35
HM=ol S &) 30,966,232 14.69 29,969,284 14.69 996,948 3.33
BH(old) 50,000 0.02 50,000 0.02 - -
LHEHH (A B) 30,916,232 14.660 29,919,284 14.66 996,948 3.33
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MNAEES 922 % 210,852,683| 100.00 204,037,070| 100.00| 6,815613 3.34
S| EF0{TIZH| XA 680,397 0.32 679,402 0.33 995 0.15
S|EF0{ X EH|X| ¥ 206,524,826 97.95 199,850,498 97.95| 6,674,328 3.34
Al- 2o 2 20{A AKX | 3,647,460 1.73 3,507,170 1.72 140,290 4.00
O 2016HE oQEZ0{7|2EHS|AH ME A oAHOH
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LAIHA L A7 EFr ) 1,000 - 1,000 -
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B4 S(0) X 35 %) 413754 | 138274 275480  199.23
I 17763|  32776| 215013 4580
X &AH 2 (et)
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- A& | AAE | wazz | EuE
T = (A) | AEHB) | (C-A-B) | (CBXI00)
HACIZHEEE) 438.417 | 179,704 258,713  143.97
FOD [RAE ORFASMEITR) | 277000 177,000 100,000 56.50
Agh olzztst ARl gl | 77000 77,000 - -
A2 Ao 200000] 100000 100000 100,00
M HE(RHE D) 161,417 2704 158713 586956
BRI B(xHE|) 61417 2704 58713| 2171.34
HE AN E D D) 100,000 | 100000 -
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20154 E 2 2016WE T |
zMy @ | e x| & 54 | zmweo@
® © | (@0-0
22,095,679 1,127,359 280,000 847,359 22,943,038

T2 A = (eh)

T o MAZ | wuzszt | 3He

T = (A) T d(B)| (C=A-B) | (C/B*100
4 Al 7,262,994 | 3,712,264 | 3,550,730 95.65
A 2| == ¢ 9,680 8,715 965 11.07
BN e (0] At) 9,680 8,715 965 11.07
LA M= (7| EF ) - - - -
BHTAdSHLU e 7,253,314 | 3,703,549 | 3,549,765 95.85
EHrdSOlxag 2= 3,497,354 | 2,766,704 730,650 26.41
EA(E S, dE= & ol=g) | 3,755,960 936,845 2,819,115 300.92
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2 = NEXT MEAE | unzzy | =ze
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s A 7,262,994 | 3,712,264 | 3,550,730 95.65
JEICETEES, 234,000 240 500 A6.500 —2.70
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OOl =X SRRl Ate| A &t

N 32,000 60,000  A28.000 ~46.67
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AbE| = x| 2 B 6082994 3381764 3601230 106.49
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2016 £ =AM A 2
20159 & 5 — 2016 E & |
_ch_é;l O_II-I @ T = _ch_glgll-l(@:@@
® © (@=0-©)
T AZE (2th)
(et9: M2l %)
. 2= 9l o MAZT | wmszy | zus
T = (A) =l (B) | (C=A-B) (C/Bx100)
et A 2,309,184 | 3,068,988 | A 759,804 -24.76
Nl 2 ¢ 355,492 361,740 26,248 -1.73
B M =2 (0| XI=¢) 156,841 183,619 N26,778 -14.58
AA MM TP EFTY) 198,651 178,121 20,530 11.53
BTS2 27l 1,953,692 2,707,248 | A 753,556 -27.83
HBHAS(EAZUETY X|Z 55 1,841,862 | 2,529,408 AB87.546 -27.18
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DA X2 128,160 142,460 A 14,300 -10.04
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L 274 2l X| = (0 EF 2) 1,000,000 1,000,000 - -
HHMX|E (0 x| 2-dtatZ) 193,144 736,828  Ab543,684 -73.79
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A
2—1. B2HAUAZATN UUIY|H =FOoAHOH
Mg +=&o k(o)
(2l M %)
I of AF of 7 & o HoSZ |[z¢e
HAT= (A) M| (B) M| | (C=A-B) |(C/Bx100)
off A & o 1,155,781 100.00 1,122,705 100.00 33,076 2.94
Ml 2|42 579,390 50.12 579,390 51.60 - -
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